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201 Zet24l 9,000 10,000 A 1,000
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Od=+2 HoI2 S=a SsHA 9,000
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202 04l 8,000 0 8,000
03 =220l 8,000 0 8,000
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301 LEXZ 5,000 5,000 0
07 2BI=& 0 bl 5,000 5,000 0
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10 SII 2SO CHEHE & X 2 EF A I 40,000 0 40,000
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EE2= HA 20,000 110,000 290,000
201 Let24d] 20,000 110,000 290,000
01 At 22l 20,000 110,000 A 90,000
OS2 0l AHE EXNRI 222 MEH 20,000
K-FEIMEEY 2,825,000 2,825,000 0
FEIMY SHEXA 2,825,000 2,825,000 0
SIASREl MPAA I (MSAL) 2,800,000 2,800,000 0
306 ¢ 2 2,800,000 2,800,000 0
01 &3 2,800,000 2,800,000 0
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202 O4dl 10,000 10,000 0
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308 XtXIEHH SOl A 15,000 15,000 0
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OJlEul 43,470
203 YR =&l 16,800 16,800 0
01 )1 228 YR =2H 6,600 6,600 0
Ol 24t =F & 6,600
04 RENSEHR=LH 10,200 10,200 0
OUtol & 2 bt 3,600
OUtol 2 &k Bt 3,600
OAHEH I XI & 1t 3,000
HRES(H0I2F 1) 1,168,650 1,842,250 A 673,600
WEHHXZE 1,168,650 1,842,250 A 673,600
LHEAHHXI & 1,168,650 1,842,250 A 673,600
705 =3 Acl34E 1,168,650 1,842,250 A 673,600
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03 A BF=AH S =AY 3,900 3,900 0
Ottol24ty R 3,900
308 MXIEHMSOIH 1,670,000 0 1,670,000
1037/ 2S0HUHeEH4HAEALS I 1,670,000 0 1,670,000
ES5E HoIEA LY BHO0IH S *5 1,000,000
OHIOIQE ALY EHATZNE FI(HS) 670,000
DEIIEX B0l 4t HARIHEAY |4 444,000 1,344,000 900,000
201 Let24E] 14,000 14,000 0
01 At 22l 14,000 14,000 0
Ogadd=&H 14,000
308 A EHHSOIA 430,000 280,000 150,000
1037/ 2S0HUHeBHEAEALS I 430,000 280,000 150,000
OlY & ABEYINY SSHEFEH 22X 150,000
O3 0l8 UWEKIT HFHAH(US) 100,000
OZ22¢Y First RD XI& 100,000
OHIOI2HE ¢t d AlgdHlE X& 80,000
NEE3s b0y s4 XA 3,917,000 6,888,000 A 2,971,000
SEHOI2M Y LATHAY 4 916,000 3,537,000 A 2,621,000
306 =93 586,000 787,000 A 201,000
01 &3 586,000 787,000 A 201,000
OHtol2 At td Y Resd HItHE 25(
=) 386,000
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OHloI At ATHIIY A&2s N 250,000
20| ¢ty ' 4 809,000 809,000 0
202 04l 5,000 5,000 0
03 =220 bl 5,000 5,000 0
O22J171 =Hegs I =204l 5,000
308 XXM SO A 804,000 804,000 0
10 37/ 2S0HUHeBAEEALS I 804,000 804,000 0
O2Z7171 71 =Mtz HF0AE 100,000
O2=ZJ1J| tet2EHAMA 2= 40,000
OQAZ D14+ FAEYH Izl 14,000
O22J101 & AT d&3=sd X 150,000
O9=zJJ dHE Jl=eg XA 500,000
JIEX Y SE4sta S (SHEHI0I246Y ) (M ALY 940,000 940,000 0
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308 XtXIEHHSOIA 940,000 940,000 0
01 HXNHHNBHEELS 940,000 940,000 0
O2=2Y stHHolad D& MY 480,000
Ostgdtole gftgsl XI& 460,000
SHUHIOIR AR 235t 150,000 400,000 A250,000
308 XtXIEHH SOl A 150,000 400,000 A 250,000
01 AXHHILEES 150,000 400,000 A250,000
OgAHN HASLY SEHAEY 150,000
SHUHIOIR JIBHAIE = 1,102,000 1,202,000 100,000
202 (4 Hl 2,000 2,000 0
01 = LH 4 b 2,000 2,000 0
OB HI0IR JIBHAIE 2= =X 0| 2,000
403 MtXSHHS A= 0l& 1,100,000 1,200,000 A 100,000
02 S 2S00 CHE A EE 2 & AL H 1,100,000 1,200,000 A 100,000
OFSE XY 4SSAE 25(UE) 200,000
OFHE MM AMLAE 2=E(UHE) 900,000
K-FE&E E4 1,020,000 800,000 220,000
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04 DIZHHALALSE E X 50,000 50,000 0
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308 XXM SOIA 440,000 320,000 120,000
10 B2 SUHUeBAHAE AR I 440,000 320,000 120,000
ORFd JIsd at¥Z Ji=Hg NE A 200,000
Ost&E 3 HIIE CXel g XI& 100,000
OK-FE &g, RJls 82 &S HMENL
A& 100,000
O=H SFEE F5 &&Hs I 40,000
KSASDAE X2 (HEAL) 300,000 200,000 100,000
308 XtXIEHHSOIA 300,000 200,000 100,000
10 I 2 SOCHetE & X 2 E AL I 300,000 200,000 100,000
Ox&sE =204 XN& 200,000
O=H st&Z =&gal &I XN 100,000
Y 2HAH (B0l 24t 50,432 44,432 6,000
JlE &3l 50,432 44,432 6,000
JlE&l 50,432 44,432 6,000
201 ¢er24| 14,192 14,192 0
01 At 22l 14,192 14,192 0
OJlz+=&Hl 5,792
OJle sl 8,400
202 O4dl 30,240 30,240 0
01 = LH 4 b 30,240 30,240 0
Ol 30,240
405 RHoHE S HI 6,000 0 6,000
01 AL EZFH S 6,000 0 6,000
O&X=AI ¢ 6,000
HRES(HH0I24H 1) 62,500 62,500 0
WEHHX S 62,500 62,500 0
LHEHeH X = 62,500 62,500 0
705 ==& cl 34 62,500 62,500 0
04 Al - SXHHLII S0l =30l Kt & & 62,500 62,500 0
O SLHHAINALE2HE A= 0l A&t e
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CHel: HHolQAY DIgtx 4 (=& J)
2 - 4
AR RA - FH - G(8H) - MEAY 0l &t o il Bl RE2
AHCHOR 2 X 2 2t 4,145,209 11,928,432 AT,783,223
MIAHZE HolEAAH S4 4,098,000 11,884,000 AT,786,000
Ol 4 Jlgtx o 4,098,000 11,884,000 A7,786,000
HHOIR I OtMSEEHX =4 69,000 81,000 A 12,000
201 L2l 58,000 58,000 0
01 At 22l 58,000 58,000 0
Ot & ==ZHl 8,000
O=Jtatet 222 M 50,000
202 o4dl 8,000 20,000 A 12,000
01 = LH o4 1l 8,000 8,000 0
OZDtatel FRFA o4 8,000
203 YR =& 3,000 3,000 0
03 Al =AY R =&Y 3,000 3,000 0
OMEIHERE HRF=2 3,000
ES FFTANS A (HSAY) 4,000,000 11,800,000 A7,800,000
403 UHXSHHSA=0l& 4,000,000 11,800,000 A7,800,000
02 S 2S0CHE A=A 2 & AL H 4,000,000 11,800,000 A7,800,000
OF= FFIANA AHE 4,000,000
=2 AN AEY ZR2 FA 29,000 3,000 26,000
201 Let24E] 10,000 0 10,000
01 At 2t 2l 10,000 0 10,000
S5 A HE BE2 A 10,000
202 O4dl 19,000 3,000 16,000
01 SLHOYI 3,000 3,000 0
OB FZFAY Y L QSHIBNY o
S8 =AY 3,000
04 2 H 204l 16,000 0 16,000
OB BETAZ Y Y227 29014l 16,000
A2 A (AN XA D) 47,209 44,432 2,777
Jl23dl 47,209 44,432 2,777
Jl2234 47,209 44,432 2,777
201 2et24d] 15,079 14,192 887
01 At 22l 15,079 14,192 887
OJl=+=&Hl 6,154
OJlEs gl 8,925
202 044l 32,130 30,240 1,890
01 = LH o4 1l 32,130 30,240 1,890
OJl=0 32,130




